EARAROBREBRT —5 XN—ZXBISH—F

20233868 (B) 19EAH1H

10R PEIshepl syl

C2— Y5k

‘(fﬁ} W ‘I%EH?’JF&] | & 15000 =

[AE%] 17%&:1,800,000  ~ 23&:720,000 37&:450,000 435:270,000 @ . 5 3&:180,000 M

B % B FrE R/ I MHE BF (T8 |94L (B | @BIR | E3F |SIEH | AK | #E | BEE FR) / B / £ERS
s S BARIE :57. ~4-4-~ . - BrA—5 (KH)
N eSS 2T %4 | BE 1(5_7)2 5-4-4-4 | 38.2 4 (4_934; o
RNTD B:SIRITSAY BFAVRI YR
==ES 4 5 BERRA 1:57.7 2-2-2-2 |38.9| - 5 462 |JETEE ()W)
2@)5|27avT %55.0 21/2) o) |BREE
R:EVFOVY B:Y—TFYvIIR e
o =~ {2 :57. -7-7- . - BEEA (KH)
3102|7205y R4 G | TR PG s
RiT—LRI—-X B:EYRoN\T1 Hiat 71X
Y S— o4 | BIIE 1:57.8 3333 |39.0| - 1| 490 |FEEMR (KH)
41714 ARV 25—T 56.0 @) o BEE (9
R:IARIT=IVYF— BINDATVT7A BEX &=
8 4 5 SR 1:58.4 14-14-16-15| 37.6 | — 12 454 | =IREEHE (W)
5/5(10| ¥¥A3T« 540 3) (-5) | PEER
RAVI/RSA4Y B:RYAFrvva RS
= Y 4 | FEHEZ 1:58.4 16-16-14-14| 37.8 | — 3 476 | BEMEE (KFH)
61111 |HAF>2U—=0 Y NF) (19 | EIER
R:Kitten’s Joy £:Wilson’s Creek William B. Harrig
FEEX :58. -9-9- . - HBREA (V)
718115 "—U—Fvvhk "4 56.0 1(528)8 8999 1392 i (4_653; EREAE :
RIS/ IVITVR BiF—ILR—TF— RIVEVEEEIS
AHESE 2 -8-7- - TReESE (KH)
8 7|23 wFE)L~ 4t 4 e 1(75?153 8-8-7-7 |39.5 8 tg)i” Egﬁﬁﬁﬁ
R:ZAbOVIUI—Y B:N—RRS #HET7— L
= s BREX :59. -6-5- . - IBEH=RS (KH)
9lglig SF/vFUF # 5 | DA 1590 5-6-5-6 | 39.9 9 (4_630) mmem
R:FZAIVNITFH— B:IFUF—F FEBERS Y R
S P EEEGEA :59. === . = =R (KFH)
10 3 54—V w IR > 5 %.0 1(}?3_5) 1-1-1-1 | 40.3 16 (4_629) g:pﬁ,fqz
RNy vH—)b B:7=— A B
= 2B :59. -4-6- . - INFFEE (V)
1 1nINI /S hu—=Ib o4 56.0 1(/?3—? e 99 6 (5,?3(; JIII _//ﬁ :
R:UFAVF4—X B:FA4TAMU—LA BREHTY RSV T - T7—L
S S W 193535 :59. -13-12- . - EBRRIR  (KH)
12 8 Y Ryg)LY 4 6 1% 1(75?1; 13-13-12-13| 38.8 10 (4:174) i
R:/I9TURS §:71—9)LO-X #HET7—L
~ > 4 f2E] :59. -15-15- . - EHZE (KH)
13 6 J—)VEVRI— > 9 50 1 (519) 3 15-15-15-12| 38.7 7 (5+041) %%%?
RVYRUITURIR B:AAHAAVETY &K B
SPe P ' — 4 | SHE 2:00.0 11-12-10-11| 40.0 | — 13 | 506 | BEMfE= (KH)
141519 | ¥ XTLAN 56.0 3172 @) | BBEX
R:FARAITU—bFvry bk B:IAIRTIAR pigaL el
~ s ° BB :00. -10-13- . - 1S (KH)
15 4 FPITPRAIIR 4 5 = 2(30/(2)1 10-10-13-16| 39.5 15 (4_533; iy
KRNI/ RIAT BRU—ARU—FAL AR
= —HYR t 6 | BREE 2:00.6  |12-11-10-10| 40.6 | — | 14 | 472 |FREEE KH)
16[7[13| SAY—UYE 5.0 @1/ () |EBET
R:Tapit £F:Smart Surprise Hill *n Dale Equ
@ 1—F—@BIEfL
13—3— |3.,5.14,12,(11,16),2,(7,15) ,4,9,13,8,10,6,1
2J—F— |3,5,14,(11,12),16,2,7,15,4,13,9,8,10,6,1
30—7— |3,5,14,11,16,12,(2,7),15,(9,13) ,8,4,1,6,10
40— — 3,5,14,11,2,16, (7,12) ,15,13,9,6,8,1,10,4
@ IhRE
B B " 5801 | | 94 K& 5-1 1,190H & 3-6 2,180H4 3EE 2-5-1 4,630
B B 1 180F4 =11 340M (=] 6-3 2,970/ 38 11-5-2 33,330M
5 350 2-5 7204 5B = 5-11 4,440
2 160 5 B 11-5 8,880

ABIC OV TRUTEREERRODDZE. THRIIZEL.




